The best test of whether or not you really understand a
concept is trying to teach (explain) it to someone else.

Teaching also forces you to communicate your thoughts
clearly and precisely. As our society becomes ever more
interlocked and interdependent, cooperation becomes more
and more important. This cooperation requires
communication; however, being heard is not enough. You
must also be understood. Your ideas will never be more
effective than your ability to make others comprehend them.
Teaching helps you develop the extremely important skill of
describing your ideas well enough for others to use them.

(The Art of Problem Solving)
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Communication Rubric

Standard 2: Communicates mathematical thinking clearly and concisely.
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2

1

Consistently uses
appropriate forms of
representation; Work
is consistently and
clearly organized;
Accurately uses math
vocabulary; Uses
relevant and concise
reasoning to support
all ideas.

Uses appropriate
forms of
representation; Most
work is clearly
organized; Accurately
uses some math
vocabulary; Uses
relevant reasoning to

support most ideas.

Inconsistently uses
appropriate forms of
representation; Clear
organization is lacking;
Accurately uses limited
math vocabulary;
Support for a number
of ideas is incomplete

ar contains errors in
reasoning.

Rarely uses
appropriate forms of
representation; Work
is unorganized; Math
vocabulary is used
inaccurately or is
missing; Most ideas are
unsupported or
supported using
irrelevant reasoning.




SO C? Checklist

Organized
Supported
Is there a clear path of

steps and reasons?

Check that:

» The flow is logical.

» You give the reader clear
signposts to show where you
are going.

» You have backed up all claims.

4

Have you included
enough but not too
much?

Correct Check for any mistakes in:
Complete »  YOur reasoning
Is the math right? » vour calculations
- your representations
- your mathematical language
Check that you have included all
necessary parts.
Clear Ask yourself:
Concise »  Will the reader understand?

« Have | included appropriate
mathematical language and
representations (diagrams,
tables, equations, graphs)?

» Do [ keep my focus and stick
to the info that is really
helpful?
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Writing Equivalent Expressions

Comparing Two Assignments
Assignment #1

Directions: Use the difference of squares formula: a?—b?=(a—b)(a +b)
to write an equivalent expression for each binomial.

Factor each completely.

1) 9x* -1 2) 4n® - 49

3) 36k% -1 4) p*-36

5) 2x* - 18 6) 196n° — 144

7) 180m* -5 8) 294r% - 150




|§r'i_'ﬁ;ent #2

Directions: Using models and words, explain how and why the difference of

squares formula works.
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Solving Word Problems
Road Trip to Susquehanna

1) Chuck plans to drive to Susquehanna to visit his friend Sherman. If Susquehanna
is 652 mi from Chuck’s home in Chattanooga, and he travels at an average rate of 60
mi/h, how many hours will he drive to make the trip? Express your answer to the
nearest tenth.

2)Chuck, instead, decided to go a little out of his way and stop and visit his friend
Phil in Punxsutawney on his way to Susquehanna to visit Sherman. Chuck traveled
at an average rate of 60 mi/h from Chattanooga to Punxsutawney to visit Phil. He
then traveled at an average rate of 45 mi/h from Punxsutawney to Susquehanna to
visit Sherman. If the distance Chuck traveled from Punxsutawney to Susquehanna
was 1/3 the distance he traveled from Chattanooga to Punxsutawney, what was
Chuck's average rate of travel for the entire trip? Express your answer to the nearest
tenth.

31In actuality, Chuck spent 4 hours 48 minutes driving from Punxsutawney to
Susquehanna. Using the information from the previous problem, how many miles
did Chuck travel from Chattanooga to Punxsutawney?



Student Work — Video

Writing an Equation

Hirst eguotion



http://www.youtube.com/watch?v=8Yxjpxdhess

PWork

1) Create diagram

1
The diagram shows that the trip m
is broken into 4 equal parts. ! . J ) 1

S
It also shows the average speed 6 O f‘ﬁp N L] 5 mph

Chuck traveled in each part.

2) Add given information

Part 3 says that it took Chuck 4

hours and 48 minutes to travel Y Y 2 y 34 qfl-i
from Punxsutawney (P) to l } } ! |
Susguehanna (S)". C P S

6 O M p N H 5 mph

Uhours Ybmin=YShwors

LI?:, @/
=10




3) Find the distance from P—S

Use the equation distance=rate*time
Substitute 4.8 for time and 45 for rate. Simplify the equation.

=
=45x1.3

a=216

4) Find the distance from C — P

Because we know that the C P 5
distance from Punxsutawney to | } ] ] |
Susquehanna is 1/3 of the I 2 y
distance from Chattanooga to N fy 3y Ny
Punxsutawney, the answer can

be solved by multiplying the & P S

distance between

F = ]
:;rr::sutawneytu Susquehanna 2‘6 2‘6 216 .216

216+216+216 =648



